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1T AREIERRMIRE [—RIKE] 12,000 411
1R+ ARBEIERRMRE [ RIRE] 12,000 411
2BEABIEBRMRE [—R - ZKRRE] 12,000 411
2BEABEIEBRMRE [—RIBREDH] 6,000 206
2BEABITEBRMRE [ZRIREDH] 6,000 206
1REIERIEERMNRE [—XREE] 12,700 434
IREIERIEERMNRE [ZXREE] 12,700 434
2IEISBHIEERMEE [—R - ZRIRE] 12,700 434
2REISBHIEERMRE [—RIREDH] 6,350 217
2IEISHIEERMEE [ RIREDH] 6,350 217
IRBESBEIEREIEERMRE [—R&RE] 14,300 489
1RBEJBREIEHEIEERMRE [ZRKE] 14,300 489
2HRBLBEIERIEERMMRE [—X - ZXRBE] 14,300 489
2BEXBEIZERIEERMBRE [—XEEDH] 7,150 245
2HRBLSBEIEAIEERMRE [ZXEEDH] 7,150 245
1iEREIERRMEE [—RIRE] 17,200 588
1iEEEIERRMRE [ZRIRE] 17,200 588
2 EEE T EBRMMRE [—R - ZREE] 17,200 588
2IEEE T ERRMRE [—RIREDH] 8,600 294
2IEEE T ERBRMRE [ZRIREDH] 8,600 294
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